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Note : (i) Question No. 1 is compulsory.   

 (ii) Attempt any five questions from 

question nos. 2 to 8. 

1. (a) Match the items given under  

Column ‘A’ with those of Column ‘B’ : 

    5×1=5 

  Column A        Column B 

(A) Aleurone layer (i) Without 

fertilization 

(B) Parthenocarpic 

fruit 

(ii) Nutrition 

(C) Ovule (iii) Double 

fertilization 

(D) Endosperm (iv) Seed 

(E) Ovary (v) Fruit 
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(b) State whether the following statements 

are True or False : 5×1=5 

(i) The female gametophyte in 

angiosperms itself acts as an 

endosperm. 

(ii) Fibers of jute are obtained by a 

process called retting/combing. 

(iii) Seaweed is a type of fungi. 

(iv) Codeine is obtained from Papaver 

somniferum var. album plant. 

(v) The essential oil is extracted from 

the roots of the vetiver grass, 

mainly from Vetiveria zizanioides. 

(c) Fill in the blanks : 5×1=5 

(i) Buoyancy and aeration in aquatic 

plants are provided by ............ cells. 

(ii) The chief chemical constituent of 

clove is ............ .  

(iii) The state with the highest 

production of black pepper in India 

is ............ . 
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(iv) Hydrocyanic acid is present in the 

tubers of ............ . 

(v) A gymnosperm having vessels 

belong to the genus ............ .  

2. (a) Give the botanical name of the plants 

that yield the following : 6×1=6 

(i) Opium 

(ii) Cashewnuts 

(iii) Coir 

(iv) Cocoa 

(v) Almond oil 

(vi) Zinger 

(b) Explain the following in one or two 

lines :  6×1=6 

(i) Nuts 

(ii) Parthenogenesis 

(iii) Mycorrhiza 

(iv) Abscission 

(v) Essential oil 

(vi) Sapwood 
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3. Differentiate between any three of the 

following :  3×4=12 

(a) Manoxylic wood and Pycnoxylic wood 

(b) Carnivorous and Parasitic plants 

(c) Male gametophyte of Cycas and Pinus 

(d) Essential oils and Fixed oils 

4. With labelled diagrams, explain any two of 

the following : 2×6=12 

(a) T. S. of Anther showing Microsporangia 

(b) T. S. needle of Pinus 

(c) L. S. of wheat grain 

(d) L. S. of seed of Ephedra 

5. (a) Describe the diagnostic features of the 

family Liliaceae and Poaceae with 

diagrams. 6 

(b) Describe the various types of seed 

appendages and their functions. 6 

6. (a) Expand the following :  4×1
 

 
=6 

(i) NBRI 

(ii) IRRI 

(iii) CPRI 

(iv) CTCRI 
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(b) Describe the processing of tobacco and 

mention its uses.  6 

7. (a) Which country does coffee come from ? 

Mention its family, part used and 

botanical name. Briefly explain the 

various coffee processing steps.  6 

(b) Why are Cycas and Ginkgo called living 

fossils ? Explain briefly. 6 

8. Write notes on any three of the following : 

3×4=12 

(a) Megasporophyll of Cycas 

(b) Birds as pollinators 

(c) Triticale 

(d) Ergot 
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foKku Lukrd (ch- ,l-&lh-) 

l=kar ijh{kk  

twu] 2025 

tho foKku 

,y-,l-bZ-&13 % ikni fofo/krk&II 

le; % 3 ?k.Vs   vf/kdre vad % 75  

uksV % (i) iz'u la- 1 vfuok;Z gSA 

 (ii) iz'u la- 2 ls 8 rd fdUgha ik¡p iz'uksa ds mÙkj 

nhft,A 

1- (d) dkWye ‘A’ esa fn, x, enksa dk dkWye ‘B’ ds enksa ls 

lqesy dhft, % 5”1=5 

 dkWye ‘A’        dkWye ‘B’ 

(A) ,Y;wjksu ijr (i) fu"kspu ds cxSj 

(B) vfu"ksdQyuh Qy (ii) iks"k.k 

(C) chtk.M (iii) f}fu"kspu 

(D) Hkwz.kiks"k (iv) cht 

(E) vaMk'k; (v) Qy 
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([k) crkb, fd fuEufyf[kr dFku lR; gSa ;k vlR; % 

5×1=5 

(i) vko`rchft;ksa@,fUt;ksLieZ esa eknk 

;qXedksn~fHkn (xsehVksQkbV) gh Hkzw.kiks"k ds :i 

esa dk;Z djrk gSA 

(ii) twV ds js'ks (QkbclZ) vixyu@dkW¥Ecx 

uked izfØ;k }kjk izkIr fd, tkrs gSaA 

(iii) leqæh 'kSoky ,d izdkj ds dod gSaA 

(iv) dksMhu iSisoj lksEuhQsje fdLe ,Yce ds 

ikS/ks ls izkIr fd;k tkrk gSA 

(v) osVhoj ?kkl eq[;r% osVhosfj;k 

tkbtsfuvksbMht dh tM+ksa ls ,d lxa/k rsy 

dks fu"d£"kr fd;k tkrk gSA 

(x) fjDr LFkkuksa dks Hkfj, % 5”1=5 

(i) tyh; ikniksa esa mRIykou vkSj okru 
-------------

 

dksf'kdkvksa }kjk iznku fd;s tkrs gaSA  
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(ii) ykSax dk eq[; jklk;fud la?kVd@vo;o  

-------------

 gSA 

(iii) Hkkjr eas dkyh fepZ dk vf/kdre mRiknu 

djus okyk jkT; 
-------------

 gSA 

(iv) gkbMªkslk;fud vEy 
-------------

 ds danksa esa ik;k 

tkrk gSA 

(v) ,d ftEuksLieZ ftlesa okfgdk,¡ gksrh gSa 
------------

oa'k dk lnL; gSA 

2- (d) mu ikniksa dk okuLifrd uke crkb;s ftuls 

fuEufyf[kr dks izkIr fd;k tkrk gS % 

6×1=6 

(i) vQhe 

(ii) dktw 

(iii) tVk@dkW;j 

(iv) dksdks 

(v) cknke dk rsy 

(vi) vnjd 



 [ 9 ] LSE–13 

D–3272/LSE–13 P. T. O. 

([k) fuEufyf[kr dks ,d ;k nks iafDr;ksa eas o£.kr dhft, %

    6”1=6 

(i) fxfj;k¡ 

(ii) vfu"ksdtuu 

(iii) dodewy 

(iv) foyxu 

(v) lxa/k rsy 

(vi) jlnk# 

3- fuEufyf[kr esa ls fdUgha rhu ds e/; vUrj crkb, % 

3×4=12 

(d) fojynk#d vkSj ?kunk#d dk"B 

([k) ekalHk{kh vkSj ijthoh ikS/ks 

(x) lkbdl vkSj ikbul ds uj ;qXedksn~fHkn  

(?k) lxa/k rsy vkSj vok"i'khy rsy 
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4- fuEufyf[kr esa ls fdUgha nks dk lqukekafdr fp= lfgr 

o.kZu dhft, %  2”6=12 

(d) y?kqchtk.kq/kkfu;ksa dks n'kkZrs gq, ijkxdks"k dh 

vuqizLFk&dkV 

([k) ikbul dh lqbZ dh vuqizLFk&dkV 

(x) xsgw¡ ds nkus dh vuqnS?;Z&dkV 

(?k) bQsMªk ds cht dh vuqnS?;Z&dkV 

5- (d) fyyh,lh vkSj iks,lh dqy ds funkukRed y{k.kksa dk 

lfp= o.kZu dhft,A 6 

([k) fofHkUu izdkj ds cht mikaxksa vkSj muds dk;ks± dk 

o.kZu dhft,A 6 

6- (d) fuEufyf[kr ds iwjs uke fyf[k, % 4×1
 

 

=6 

(i) ,u- ch- vkj- vkbZ- 

(ii) vkbZ- vkj- vkj- vkbZ- 

(iii) lh- ih- vkj- vkbZ- 

(iv) lh- Vh- lh- vkj- vkbZ- 
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([k) rackdw ds lalk/ku dk o.kZu dhft, vkSj mlds 

mi;ksx fyf[k,A 6 

7- (d) dkWQh fdl ns'k ls vkbZ gS \ blds dqy] mi;ksx 

fd, tkus okys Hkkx vkSj okuLifrd uke dks 

crkb,A dkWQh lalk/ku ds fofHkUu pj.kksa dk laf{kIr 

o.kZu dhft,A  6 

([k) lkbdl vkSj ftUdxks dks thfor thok'e D;ksa dgk 

tkrk gS \ la{ksi esa o.kZu dhft,A 6 

8- fuEufyf[kr eas ls fdUgha rhu ij fVIif.k;k¡ fyf[k, % 

3×4=12 

(d) lkbdl ds xq#chtk.kqi.kZ 

([k) ijkxdksa ds :i esa i{kh 

(x) fVªfVdsy 

(?k) vxksZV 

× × × × × 

 

 

 


